1 Find the mean deviation about the

median for the data
36,72,46,42, 60, 45,53, 46, 51, 49

SOLUTION

Arranging the data in ascending
order, we get

36,42, 45, 46, 46,49, 51, 53, 60, 72
Here the number of observations
is 10, which is even.

Median

(%)mobaervation + (% + 1)thobserva.tion

M= 2

5th observation + 6" observation

2
46+49 95
=_=—=4 .
5 5 7.5

The deviations of the respective
observations from the median i.e.
x; — M are

~11.5,-5.5,—2.5, —1.5, —1.5,1.5,3.5, 5.5,12.5,24.5
The absolute values of the
deviations|z; — M| are
11.5,5.5,2.5,1.5,1.5,1.5, 3.5, 5.5,12.5, 24.5
Thus the required mean
deviation about the median is
2:21 |z — M|
10 )

11.5+55+25+1.54+1.5+1.5+3.5+5.5+12.5 4 24.5
10

M.D.(M) =

—E_7



?_ Find the mean deviation about the
median for the data,

Ans) C.F=Cumulative frequency

x| f. |CF-|lx,-Ml|flx, -
S 8 8 2 16
(7)) s 0 0
9 2 16 2 4
10| 2 18 3 6
12 2 20 5 10
15| 6 26 8 48
N =26 84

Here, N = 26 (even)

=y (2] 2] | v

= %[13"' +14™) observation

1
=—[7+7)=7

. MD.(M)= 2 x, -

1
=—xX84=3-23
26
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